Transformer Problems

10.39 a) Find the average power delivered by the sinu-
soidal current source in the circuit of Fig. P1(.39.

b) Find the average power delivered to the 20 Q)
resistor.

Figure P10.39
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10.44

10.45

For the frequency-domain circuit in Fig. P10.44,
calculate:

a) the rms magnitude of V.
b) the average power dissipated in the 70 (} resistor.

¢) the percentage of the average power generated
by the ideal voltage source that is delivered to
the 70 () load resistor.

Figure P10.44
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The 70 {} resistor in the circuit in Fig. P10.44 is
replaced with a variable impedance Z, Assume
Z, 1s adjusted for maximum average power trans-
fer to Z,.

a) What is the maximum average power that can
be delivered to Z,?

b) What is the average power developed by the
ideal voltage source when maximum average
power is delivered to Z,?



10.62 The variable load resistor Ry in the circuit shown in
eseice  Fig. P10.62 is adjusted for maximum average power
MU transfer 1o R).

a) Find the maximum average power.

b) What percentage of the average power developed
by the 1deal voltage source is delivered to R
when R, is absorbing maximum average power?

c) Test your solution by showing that the power
developed by the ideal voltage source equals the
power dissipated in the circuit.
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10.64 Find the average power delivered to the 10 Q) resis-
tor in the circuit of Fig. P10.64.

Figure P10.64
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